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QUESTION 1

What is Compose for etcd used to store? 

A. Messaging data 

B. Key/value pair data 

C. Data in JSON documents 

D. Data in a relational schema 

Correct Answer: B 

 

QUESTION 2

What is the limit to the number of catalog assets in Watson Studio? 

A. 10.000 

B. 500,000 

C. Unlimited 

D. 1,000,000 

Correct Answer: C 

 

QUESTION 3

What response type needs to be used in the exposed IBM Cloud Function REST API if it uses path parameters? 

A. Text 

B. JSON 

C. HTTP 

D. JavaScript 

Correct Answer: B 

 

QUESTION 4

Which statement describes an IBM Cloud bare metal server? 

A. It is a dedicated single-tenant server 

B. It can only run non-virtualized workloads 
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C. It cannot be customized after it is provisioned 

D. It is provisioned with preset compute options 

Correct Answer: B 

 

QUESTION 5

In IBM Cloud Kubernetes Service, what is used to declare all of the components of an application and its
dependencies? 

A. Module 

B. Node 

C. Replica 

D. Deployment 

Correct Answer: D 

 

QUESTION 6

Which two methods are considered safe under HTTP specification for RESTful APIs? 

A. GET 

B. PUT 

C. HEAD 

D. POST 

E. PATCH 

Correct Answer: AC 

 

QUESTION 7

Which statement is true when selecting a microservices runtime platform? 

A. A DevOps capability is not necessary, as microservices are inherently independent and loosely coupled 

B. Infrastructure as a Service (laaS) platforms abstract and remove operating system dependencies. 

C. A microservices oriented Platform as a Service (PaaS) enforces that all microservices are scaled together. 

D. An ideal Platform as a Service (PaaS) provides the necessary capabilities and building blocks to associate metadata,
policies, and correlate inter-service calls. 

Correct Answer: A 
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QUESTION 8

What is the purpose of using pull requests to manage changes to a git repository? 

A. It supports code review and enhances collaboration. 

B. It is a faster way to update a repository than a direct push. 

C. It prevents developers from making different changes to the same file. 

D. It keeps change sets small so that they can be completed and tested quickly. 

Correct Answer: A 

 

QUESTION 9

At the completion of creating a new custom Watson Visual Recognition model, which value is received that will be used
to run new images against the model? 

A. api_id 

B. api_key 

C. classifier_id 

D. classifier_key 

Correct Answer: C 

 

QUESTION 10

Which cf command scales an IBM Cloud Foundry application horizontally? 

A. $ cf scale myApp 

B. $ cf scale myApp - i 5 

C. $ cf scale myApp - m 1G 

D. $ cf scale myApp - k 512M 

Correct Answer: B 

 

QUESTION 11

Which statement describes the immutability of data on blockchain? 

A. Data can only be modified by an administrator 
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B. It is not possible to modify business data through transactions 

C. No participant can tamper with a transaction after it has been recorded to the ledger. 

D. All data is encrypted using a one-way hashing algorithm. Therefore, changing stored data is impossible. 

Correct Answer: B 

 

QUESTION 12

Which Docker component specifies interfaces that programs can use to talk to the daemon and instruct it what to do? 

A. Images 

B. Engine 

C. Registry 

D. Services 

Correct Answer: A 

 

QUESTION 13

Which external social identity provider can be used with the App ID service? 

A. Yahoo userlDs 

B. Twitter userlDs 

C. Facebook userlDs 

D. Social Fixer userlDs 

Correct Answer: D 

 

QUESTION 14

A Node.js application needs to be deployed first on a staging environment to be tested before it is deployed to
production environment . Using the Delivery Pipeline, two Deploy stages were created, one called "DeployToStag"
targeting staging environment and the other called "DeployToProd" targeting production environment. 

On running the DeployToStag stage it ran successfully while on running the DeployToProd stage it failed 

with the following error: 

"The route myapp.mybluemix.net is already in use" 

Which command in the Deploy script for the DeployToProd stage can fix the error? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 15

In IBM Cloud Kubernetes Service, what must be done to protect against failure of an availability zone? 

A. Set up a multi zone cluster 

B. Set up another cluster in the zone 

C. Set up a new pod in a new node in the zone 

D. Set up a load balancer to the multiple pods 

Correct Answer: A 
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